Solutions to Sample test 2

 

For 4 –period average, the first few rows are as follows:

 

	Forecast 
	Error

	 
	 

	 
	 

	 
	 

	 
	 

	11.50
	10.50

	15.75
	12.25


 

For exponential smoothing, the forecasts and errors are as follows for periods 2 through 4.

	Forecast
	Error

	 
	 

	5
	3.0

	6.5
	9.5

	11.3
	5.8


 

	 
	BIAS
	MAD
	Std Error

	4 month average
	9.16
	9.16
	9.70

	Exponential smoothing
	7.10
	7.10
	7.73


 

 

1. BIAS: For the moving average, the forecasts are below the actual values by 9.16 units on an average. Similarly for the exponential smoothing, there is underforecasting by 7.10 units on an average. 

 

MAD: For the moving average, the forecasts are off on an average by 9.16. Similarly for the exponential smoothing, they are off by 7.10.

2. Exp. Smoothing is better due to lower MAD 

3. Forecast =54.7 

4. Simple Regression, since there is a trend that looks straight, with no evidence of seasonality. 

5. 3.5X + 3, approximately. 

6. Y-hat = 3.6286X + 2.9048 

7. 60.96 

8. BIAS is automatically 0 

MAD is 2.017

Std Error is 2.606

9. Much lower standard error than the numbers shown above problem 1. 

10. R-squared = 0.9766 

11. Yes, significance of F value is lower than 0.05. 

12. No, the residuals are random, indicating that simple regression is good. 

13. A Seasonal Index is a factor by which a given season affects the dependent variable’s value. An index of 1.25 means that the dependent variable values for that season tend to be 25% greater than the underlying average of all seasons. 

14. No, since the transformation of Y introduces a BIAS. 

15. Exponent of 6.34 = 566.79 

16. Since Seasonal Indices average to 1, the index for quarter 1 is 0.8. 

Hence, the forecasted Y is 34 times 0.8, which equals 27.2.
